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1. AFa%

(24 : 24, %)
= = A= (a) FHED) | FE |
- z F4 [ Ale | 3 [ AlE | 3 | WE
dF 4 dAF 24,777| 21.60| 27,808 22.40| 3,031| 12.23|

+7t5 4 0 0.00 0 0.00 0
H=Ad 80,450| 70.13| 86,980 70.07| 6,5631| 8.12
2} L (AEF2E) 5,465 6.79 6,043 6.94 978 ..8.85
At vl Akt 118 0.10 141 0.11 23] 19.89
7] & =} A 901 0.79 732 0.59] -170|-18.83
ALEAR aA 106,246 92.62| 115,660, 93.17| 9,415 8.86
ElLig g 8.467 7.38 8.478 6.83 11, 0.13
A F A 114,713/ 100.00|124,139 100.00, 9.425| 8.22
q & F 91,093| 79.41| 100,232| 80.74| 9,140| 10.03
a4 & 5,572| 4.86| 6,115 4.93 543 9.74
jﬁ 7] & § A 1,353 1.18 1,370 1.10 17, 1.27
- ARAN AA | 98,017 97.19) 107,717 98.80| 9,700 9.90|
ki 2,833 2.81 1,303 1.20| -1,530|-54.00

FAZA 100,850 100| 109,020 100| 8,170
A€ 8,008/ 57.76 8,636| 57.12 628 7.84

A | AR 0 0 L
= olejddw 5,856| 42.24 6,483 42.88 627| 10.70

7€} 0 0 0
A2 2 A 13,864 100/ 15,119 100 1,255 9.05
A 2 AREEA | 114,714 100| 124,139 100 9425 8.21

% Z7lg = 29(b)/F4(a)x100-100
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(2 A4, %)

- = .
313‘ :'\_ o =
T AdE(@) | FEEOD) = e
1. Ao 16,203 14,149| -2,053 -12.67
1.0])29] 3,454 4,127 673| 19.49
2.7%7859 35 44 9  25.43
3.7]ek 1 2 1| 56.03
4.duAbgiae] 12,712 9,976/  -2,736] -21.52
. ARul4-() 13,820 11,720, -2,100] -15.20
1.0] A& 1,310 1,824 514,  39.22
2. 55544 93 100 7 7.38
3.7]eh) % 313 165,  -148| -47.26
4. 9uAIH] 4 12,105 9,632 -2,473| -20.43
M. ApdEole}(1-1) 2,383 2,429 47 1.96
V. Adgtelu] 1,613 1,714 101 6.25
V. Algle}d] 770 716 -54| -7.03
VI. AHi9] - 7lekre] 311 646 335 107.64
VIL AL - 71 el 159 313 155| 97.57
VI g QAE]E | 91 16|  -76| -82.73
X. 371Eeld | 831 1,033 202 24.27
% Z7E = F9(b)/F(a)=x100-100
3. FRAYAR
) (291 %, %p)
T 2 A% (a) Fd=(b) =
A& 12.90 12.84 -0.06
2ol A& 0.11 0.17 0.06
SEEES e 0.34 | 0.48 0.14
eIl 6.79 6.94 0.15
FAkEo| U E 0.73 0.89 0.16
LR ablks 71.08 57.03 -14
olchulg 83.35 75.20 -8.15

% 57k =

1] (b)-4l&(a)




